"U014D.0|02 BUI|D22U0D SI LDYM ‘PaJapuom Aayy 2]

*SJUBPNLS 2y} PAWID|IX2 jWNasnuwi 2yt of 0b 5427 7]

¢+S24 1X2U JUNOA S1 UBYA ‘Pauinbul JaLLow JNOA"OT

*J2YID2L Y4 P2J2PU0 jUOILULLD ADd 6

¢diug pj214 0 2ApY 04 bu10b am 24y ‘pauinbul sjuapnis 2yl ‘g
"J2Yonal 2y4

P|OL ‘2AD2| UD2 NOA PuD ‘Boq UnoA Ul sjuomawioy JnoA 4nd 'ysap JNOA uo2|D /L

¢2W 0L JDD JNOA pu2| NOA P|NoY ‘P23SD UISN0d AW 9

"J2YLOW YL PAUJDM j£22ULS U4 SSOUD NOA U2YM SNOILNDD 28 °G

j2z1ud 2y4 uim |[Im T ‘4ybnoys pjiyo 2yt ‘f

-J24oD2} 2Y4 pios ‘26| Jnowind o) 2sinbsip asn upd Aaud ay| °¢

¢2ADY NOA Op SU103 AUDUI MOH ‘PXSD J21YSpd 24l ‘2

‘241M AW 2A0| SADMD ||im T ‘pasiwoud wooub ayy |

'$20U24U2s BuIMO||04 2Y4 Ul Buojag Aay) 2u2ym SHJOW SUOIDLOND 2ID|d HSDL

SHJDW uo14DloNd

:240Q :# :2WDN



Name: #: * Show your Work * Date:

1. A can of tennis balls holds three balls. How 2. Mrs. Telebrico bought two loaves of rice bread,
many balls are in five cans? five bottles of white grape juice, and three cans of
tomatoes soup. How many things did she buy?

4. Ms. Telebrico started to bake three batches of
cookies at 7:00 pm. She finished baking at 10:00 pm.
How long did it take her to finish all three batches?

3. There are thirty-three students on a school
bus. At the first stop, seventeen of the
students get of f. The rest stay on the school
bus and drive fo the next stop. How many
students stayed on the bus?
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Name: #: .

5 Ms. Telebrico has twenty-one pens. She 6. A care bear doll costs thirty-nine cents. If you
bought eight more. How many pens does she have | paid with two quarters, how much change would you
in all? get back?

7 A car is traveling forty-five miles an hour. Tt 8. Ms. Telebrico has twenty-four feet of wire. She
slows to twenty-five miles an hour. How much uses fifteen feet of wire to repair a fence. How

slower is the car going? many feet of wire does she have lef1?
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Name: #: ugﬂl Date:

9.In May, Ms. Telebrico did yoga six times. In 10. A case of fruit has twenty-four jars. How many
TJune, she only did it five times and in J uly, only jars are in two cases?

twice. How many times is all did Ms. Telebrico do

yoga?

12 Ms. Telebrico lives halfway between the school
and Mrs. Lee's house. School is eighteen miles from
Mrs. Lee's house. How many miles does Ms. Telebrico
travel o school?

11. A building in downtown L.A. has thirty-nine
floors. People live on twenty-seven floors of the
building and the other floors are used for stores.
How many floors are used for stores?
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Name: H: mz.v?q\ I Date:

g

13. Mr. Lamb read eight books. Mrs. Lee read | 14. There are seven days in one week. How many
+wo more than Mr. Lamb. Ms. Telebrico read five | days are in four weeks?

more than Mrs. Lee. How many books did they all
read together?

15. Ms. ._.m_m_uzn.o found that there are four 16. A team of four students each ran a race of one
quarts of water in a bucket. How many quarts of | hundred meters. Their times were fourteen
water are in five buckets? seconds, fifteen seconds, fourteen seconds, and

sixteen seconds. How long did it take the team fo
finish the race?
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If A =3, (=4, and O = 2, circle the groups that equal 6.
Write an equation below each group that is circled.

EXAMPLE

QD OA OC
000 A

OO
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